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Show All Necessary Work
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PART-I (MCQ)  
Each MCQ = 7 points] 
Encircle your choice (answer of each MCQ) in the following Table 
	MCQ # 
	
	
	Answer 
	
	

	1
	A
	B
	C
	D
	E

	2
	A
	B
	C
	D
	E

	3
	A
	B
	C
	D
	E

	4
	A
	B
	C
	D
	E

	5
	A
	B
	C
	D
	E

	6
	A
	B
	C
	D
	E

	7
	A
	B
	C
	D
	E

	8
	A
	B
	C
	D
	E

	
	
	
	
	
	

	9
	A
	B
	C
	D
	E

	10
	A
	B
	C
	D
	E


PART-II (Written) 
	Q 
 
	Points 

	1 
	/14 

	2 
	/14 

	3 
	/14 

	4 
	/14 

	5 
	/14 

	Total 
	/70 


Q 1. Consider the differential equation 
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D/  has no singular solution.
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Q2. An implicit solution of the initial value problem 
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Q3. The implicit solution of the exact equation 
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Q4. The solution of the differential equation 
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Q5. If the solution of a certain homogeneous equation with constant coefficients is 
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, then the differential equation is:
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Q6. If 
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 is a particular solution of the non-homogeneous equation 
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Q7. A particular solution of the differential equation 
[image: image36.wmf]x

e

y

y

y

x

cos

2

'

3

'

'

+

=

+

-

  is of the form:
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Q8. For which values of 
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Q9. The dimension of the solution space of the system 
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A/ 3

B/ 2
C/ 1
D/ 4

E/ 0

Q10. The characteristic polynomial of a matrix 
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 is invertible and its inverse is 
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B/ 
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 is invertible and its inverse is 
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C/ 
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 is invertible and its inverse is 
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 is not  invertible. 
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 is invertible and its inverse is 
[image: image68.wmf]I

A

A

A

A

+

+

-

=

-

2

3

1

3

.

Question 1 (14 points). Use the method of variation of parameters to solve the differential equation 
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Question 2 (14 points)

1/ Show that the matrix 
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2/ Find a matrix 
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 such that 
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3/ Express 
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Question 3 (14 points)  Solve the system 
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Question 4 (14 points)  Solve the system 
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Question 5 (14 points)  Consider the system 
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1/ Find 
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2/ Solve the system 
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